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P - II (1+1+1) G / 20 (N)SUP

2020

SOCIOLOGY (General)
Paper Code : II - A & B

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 50 Time : One Hour

Choose the correct answer.

Each question carries 2 marks.

1. Who is the father of the Indian Constitution?

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) B. R. Ambedkar

(D) Dr. C. V. Raman

1Ð ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû ‹˜„þ ö„þÚ

(A) ›£ydy †yõþ#

(B) ‹ç£îûœyœ ö˜öì£îû&

(C) !î. xyîû. xyöìÁº”„þîû

(D) vþ. !¢. !¦þ. îûy›˜

2. The rapid increase in population of an area is called —

(A) Population explosion

(B) Decreasing population

(C) low growth rate

(D) None of the above

2Ð ö„þy˜ xMþéöìœîû ‹˜¢‚…Äyîû o&“þ î,!kþöì„þ  îœy £ëûÐ

(A) ‹˜¢‚…Äy !îöìßþ³þyîû’

(B) ‹˜¢‚…Äy £Éy¢

(C) „þ› î,!kþîû £yîû

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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3. Which of the following is a population control measure ?

(A) Education

(B) Increasing age of marriage

(C) Use of Contraception

(D) All of the above

3Ð !˜Á¬!œ!…“þ ö„þy˜!Ýþ ‹˜¢‚…Äy !˜ëûsþföì’îû vþzþ™yëûÚ

(A) !ŸÇþyîû ²Ì¢yîû

(B) !îîyöì£îû îëû¢ î,!kþ

(C) †¦Åþ!˜öìîûy•„þ îÄî£yîû

(D) vþzþ™öìîûy_« ²Ìöì“þÄ„þ!Ýþ£z

4. The Constitution of India recognizes two groups that have suffered historically
most from inequality. (Select from Codes given below)

i. Dalits

ii. Brahmins

iii. Adivasis

iv. Rajput

Codes

(A) Only iv

(B) iv and iii

(C) Only iii

(D) i and iii
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4Ð ¦þyîû“þ#ëû ¢‚!î•y˜ ö„þy˜ ”%!Ýþ ¢Á±”yëûöì„þ £z!“þ£yöì¢ x¢›“þyîû „þyîûöì’ ¢îöì‰þöìëû Çþ!“þ@ùÌhßþ
£öìëûöìŠé îöìœ ßþº#„,þ!“þ !”öìëûöìŠéÚ

(i) ”!œ“þ

(ii) îÊyáþ’

(iii) xy!”îy¢#

(iv) îûy‹þ™%“þ

Codes

(A) Ö•% iv

(B) iv ~î‚ iii

(C) Ö•% iii

(D) i ~î‚ iii

5. Which of the following is a unique feature of Indian society ?

(A) Caste

(B) Nuclear family

(C) Christianity

(D) Literacy

5Ð !˜öì‰þîû ö„þy˜!Ýþ ö„þîœ ¦þyîûöì“þ !î”Ä›y˜Ú

(A) ‹y!“þöì¦þ” ²Ìíy

(B) ~„þ„þ þ™!îûîyîû

(C) !…ÊÜT •›Å

(D) ¢yÇþîû“þy
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6. Which one of the following is true of caste system?

(A) Promotes social inequality

(B) Promotes educational inequality

(C) Believes in strict hierarchy in society

(D) All of the above

6Ð ö„þy˜!Ýþ ‹y!“þöì¦þ” ²Ìíyîû öÇþöìe ²Ìöìëy‹ÄÚ

(A) ¢y›y!‹„þ ÷î¡ì›Ä ²Ì‰þyîû „þöìîû

(B) !ŸÇþy†“þ x¢›“þyîû ²Ì‰þyîû „þöìîû

(C) ¢›yöì‹ „þöìàþyîû ö×!’!î˜Äyöì¢ !îÙ»y¢#

(D) vþz!ÍÔ!…“þ ²Ìöì“þÄ„þ!Ýþ£z

7. As per the Hindu marriage, a union between a Brahmin women & Vaishya
man is called .

(A) protiloma

(B) anuloma

(C) endogamy

(D) none of the above

7Ð îÊyáþ’ ›!£œy ç ÷îŸÄ þ™%îû&öì¡ìîû ›öì•Ä !îîy£öì„þ !£¨% !îîy£ ˜#!“þöì“þ  îœy
£ëûÐé

(A) ²Ì!“þöìœy›

(B) x˜%öìœy›

(C) xhsþ!îÅîy£

(D) ö„þyöì̃ y!Ýþ£z ˜ëû



Page : 7 of 19

8. The idea of sanskritization was promoted by ________.

(A) G. S. Ghurey

(B) M. N. Srinivas

(C) P. V. Young

(D) None of the above

8 Ð ¢‚ßþ,ñ“þyëû̃  •yîû’y!Ýþ  myîûy ²Ì‰þy!îû“þ £öìëû!ŠéœÚ

(A) !‹. ~¢. ‡%öìîû

(B) ~›. ~˜. ×#!˜îy¢

(C) !þ™. !¦þ. £zëûy‚

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

9. Buddhism was founded by —

(A) Mahavira

(B) Gautama Buddha

(C) Jesus Christ

(D) Laozi

9Ð öîïkþ •›Å „þyîû myîûy ²Ì!“þ!Ûþ“þ £öìëû!ŠéœÚ

(A) ›£yî#îû

(B) ö†ï“þ› î%kþ

(C) !ëÖ !…ÊÜT

(D) œyçéôé‹#
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10. Which type of poverty refers to a lack of basic resources needed to maintain
healthy bodily function?

(A) absolute poverty

(B) relative poverty

(C) cultural poverty

(D) none of the above

10Ð ”y!îûo“þyîû ö„þy˜ îû*þ™!Ýþ ¢%ßþi Ÿyîû#!îû„þ „þyëÅ ¢Á™y”öì̃ îû ‹˜Ä ²Ìöìëûy‹˜#ëû ö›ï!œ„þ ¢‚ßþiy˜=!œîû
x¦þyîöì„þ öîyGþyëûÚ

(A) þ™îû› ”!îûo“þy

(B) xyöìþ™!Çþ„þ ”!îûo“þy

(C) ¢y‚ßþ,ñ!“þ„þ ”!îûo“þy

(D) ö„þyöì̃ y!Ýþ£z ˜ëû

11. Which of the following is not a monotheistic religion?

(A) Islam

(B) Hinduism

(C) Christianity

(D) Judaism

11Ð !˜öì‰þîû ö„þy˜!Ýþ ~„þ{Ù»îûîy”# •›Å ˜ëûÚ

(A) £z¢œy› •›Å

(B) !£¨% •›Å

(C) !…ÊÜT •›Å

(D) £zý!” •›Å
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12. Which of the following has caused a change in Indian caste system?

(A) Urbanisation

(B) Industrialization

(C) Educational Opportunities

(D) All of the above

12Ð !˜Á¬!œ!…“þ ö„þy˜!Ýþ î’Å îÄîßþiyëû þ™!îûî“Åþöì̃ îû „þyîû’Ú

(A) ˜†îûyëû’

(B) !ŸÒyëû˜

(C) !ŸÇþyëû ¢%öìëy†

(D) vþz!ÍÔ!…“þ ²Ìöì“þÄ„þ!Ýþ

13. Which among the following are obstacles in the path of nation building in India?

(A) Hierarchical social order

(B) Economic inequalities

(C) Communalism

(D) All of the above

13Ð !˜Á¬!œ!…“þ ö„þy˜!Ýþ ¦þyîûöì“þ ö”Ÿ †àþöì̃ îû þ™öìí îy•y îöìœ •îûy £ëûÚ

(A) ö×!’îkþ ¢y›y!‹„þ Ÿ,Cœy

(B) xíÅ÷ì̃ !“þ„þ ÷î¡ì›Ä

(C) ¢yÁ±”y!ëû„þ“þy

(D) vþzþ™öìîûy_« ²Ìöì“þÄ„þ!Ýþ
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14. In The Child Labour Prohibition and Regulation Act, a “Child” is defined as
any person below the age of .

(A) 13

(B) 16

(C) 14

(D) 18

14Ð !ŸÖ ×› !˜!¡ìkþ„þîû’ ç !˜ëûsþf’ xy£zöì̃  ~„þ‹˜ òò!ŸÖóó £œ  éîëûöì¢îû !˜öì‰þ ö„þy˜
îÄ!_«Ð

(A) 13

(B) 16

(C) 14

(D) 18

15. According to the Dowry Prohibition Act 1961, what is the punishment for giving
or taking or demanding or accepting dowry?

(A) A fine of rupees five thousand

(B) Up to six months imprisonment and / or up to five thousand rupees
fine

(C) Imprisonment of one year

(D) Imprisonment of ten years

15Ð öëï“%þ„þ !˜!¡ìkþ„þîû’ xy£z̃  x %̃¢yöìîû öëï“%þ„þ ö˜çëûy îy ö”çëûy îy ”y!î „þîûy îy @ùÌ£’ „þîûyîû
Ÿy!hßþ !„þÚ

(A) þ™¤y‰þ £y‹yîû Ýþy„þy ‹!îû›y˜y

(B) Šéëû ›y¢ þ™ëÅhsþ „þyîûy”[þ ~î‚ / xíîy þ™¤y‰þ £y‹yîû Ýþy„þy þ™ëÅhsþ ‹!îû›y˜y

(C) ~„þ îŠéöìîûîû „þyîûy”[þ

(D) ”Ÿ îŠéöìîûîû „þyîûy”[þ
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16. When was the Domestic Violence Act enacted in India?

(A) 2006

(B) 1998

(C) 1980

(D) 2020

16Ð ¦þyîûöì“þ ‡öìîûyëûy ¢!£‚¢“þy xy£z̃ (Domestic Violence Act) ö„þy˜ ¢yöìœ „þyëÅ„þîû £ëûÚ

(A) 2006

(B) 1998

(C) 1980

(D) 2020

17. Which kind of research is undertaken when the subject of research is completely
new?

(A) Descriptive research

(B) Explanatory research

(C) Applied research

(D) Exploratory research

17Ð †öìî¡ì’yîû !î¡ìëû ë!” ¢Á™)’Å ˜“%þ˜ £ëû “þy£öìœ ö„þy˜ •îûöì’îû †öìî¡ì’y „þîûy £ëûÚ

(A) î’Å̃ y›)œ„þ †öìî¡ì’y

(B) îÄy…Äy›)œ„þ †öìî¡ì’y

(C) ²Ìöìëûy†›)œ„þ †öìî¡ì’y

(D) x %̃¢õþy˜›)œ„þ †öìî¡ì’y
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18. Which of the following stages come first in a research?

(A) Data Analysis

(B) Data Collection

(C) Hypothesis Formulation

(D) Conclusion

18Ð †öìî¡ì’yëû ö„þy˜ þ™ëÅyëû!Ýþ ²Ìíöì› xyöì¢Ú

(A) “þíÄ !îöìÙÕ¡ì’

(B) “þíÄ ¢‚@ùÌ£

(C) ²Ì„þÒ !˜›Åy’

(D) vþzþ™¢‚£yîû

19. Research can be classified as —

(A) Basic and applied research

(B) Qualitative and quantitative research

(C) Historical, survey and experimental research

(D) All of the above

19Ð †öìî¡ì’yîû •îû’=!œ £œ éôôôé

(A) ²Ìyí!›„þ ç ²Ìöìëûy†›)œ„þ †öìî¡ì’y

(B) =’†“þ ç þ™!îû›y’†“þ †öìî¡ì’y

(C) ú!“þ£y!¢„þ– ¢›#Çþy ç þ™îû#Çþy›)œ„þ †öìî¡ì’y

(D) vþzþ™öìîûy_« ²Ìöì“þÄ„þÝþy£z
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20. The process of selecting a subset of a population is known as —

(A) Survey research

(B) Applied Research

(C) Hypothesis formulation

(D) Sampling

20Ð ö›yÝþ ‹˜¢‚…Äyîû ›öì•Ä vþzþ™éôéö¢Ýþ !˜îÅy‰þ˜ „þîûyöì„þ îœy £ëû éôôôé

(A) ‹!îûþ™

(B) ²Ìöìëûy†›)œ„þ †öìî¡ì’y

(C) ²Ì„þÒ !˜›Åy’

(D) ˜›%̃ y ‰þëû̃

21. Which of these is a method of data collection?

(A) Questionnaire

(B) Interview

(C) Observation

(D) All of the above

21Ð ~îû ›öì•Ä ö„þy˜!Ýþ “þíÄ ¢‚@ùÌöì£îû ~„þ!Ýþ þ™kþ!“þÚ

(A) ²ÌÙÀ›yœy

(B) ¢yÇþyê„þyîû

(C) þ™ëÅöìîÇþ’

(D) vþzþ™öìîûîû ¢î=!œ£z
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22. The Government of India conducts Census after every  years.

(A) 5 years

(B) 10 years

(C) 15 years

(D) 2 years

22Ð ¦þyîû“þ ¢îû„þyîû ²Ì!“þ é é îŠéîû þ™îû ‹˜†’˜y þ™!îû‰þyœ˜y „þöìîûÚ

(A) 5 îŠéîû

(B) 10 îŠéîû

(C) 15 îŠéîû

(D) 2 îŠéîû

23. Which type of research answers the question ‘what’?

(A) Descriptive research

(B) Explanatory research

(C) Exploratory research

(D) Applied research

23Ð ö„þy˜ •îûöì̃ îû †öìî¡ì’y ò!„þó ²ÌöìÙÀîû vþz_îû ö”ëûÚ

(A) î’Å̃ y›)œ„þ †öìî¡ì’y

(B) îÄy…Äy›)œ„þ †öìî¡ì’y

(C) x %̃¢õþy˜›)œ„þ †öìî¡ì’y

(D) ²Ìöìëûy†›)œ„þ †öìî¡ì’y
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24. Which type of research answers the question ‘why’?

(A) Descriptive research

(B) Explanatory research

(C) Exploratory research

(D) Applied research

24Ð ö„þy˜ •îûöì̃ îû †öìî¡ì’y òö„þ˜ó ²ÌöìÙÀîû vþz_îû ö”ëûÚ

(A) î’Å̃ y›)œ„þ †öìî¡ì’y

(B) îÄy…Äy›)œ„þ †öìî¡ì’y

(C) x %̃¢õþy˜›)œ„þ †öìî¡ì’y

(D) ²Ìöìëûy†›)œ„þ †öìî¡ì’y

25.  is a tentative statement.

(A) Sample

(B) Design

(C) Hypothesis

(D) None of the above

25Ð  ~„þ!Ýþ xßþiyëû# ²ÌhßþyîÐ

(A) ˜›%̃ y

(B) ˜:y

(C) ²Ì„þÒ

(D) ö„þyöì̃ y!Ýþ£z ˜ëû
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P - II (1+1+1) G / 20 (N)SUP

2020

SOCIOLOGY (General)
Paper Code : II - B

[New Syllabus]
(Supplementary)

Full Marks : 100 Time : Three Hours

The figures in the margin indicate full marks.

Group - A

Answer any five questions taking at least one from each section. 16×5=80

Section - I

1. What is social change? How has westernization brought about a change in
Indian Society? 4+12

2. Analyze the features and forms of two of the following religions in India:
Buddhism and Jainism. 4+12

3. Define ‘Family’? Elaborate the various changes in the functions of the family.
4+12

Section - II

4. What do you mean by communalism? Discuss the nature and causes of
communalism in India. 4+12

5. What do you mean by secularism? Describe the nature of secularism in Indian
society? 4+12

6. What is meant by youth unrest? What are the major causes of youth unrest in
India? 4+12
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Section - III

7. What is social research? Discuss the different types of social research.
4+12

8. What do you mean by Interview? Discuss the advantages and disadvantages
of interview. 4+12

9. What is questionnaire? Distinguish between questionnaire and schedule.
4+12

Group - B

10. Answer any four questions from the following : 5×4=20

(a) Who are the Dalits?

(b) What are the characteristics of tribes in India?

(c) What do you mean by social problems?

(d) What are the major causes of poverty in India?

(e) What do you mean by population explosion?

(f) What is Participant Observation?

(g) Identify five major steps in writing a report.

(h) What is pie chart? Explain with a diagram.

îDy˜%îy”

!î¦þy† éôé „þ

²Ìöì“þÄ„þ x‚Ÿ öíöì„þ „þ›þ™öìÇþ ~„þ!Ýþ !˜öìëû öë ö„þyöì̃ y þ™¤y‰þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ
16×5=80

x‚Ÿ éôé 1

1Ð ¢y›y!‹„þ þ™!îûî“Åþ˜ !„þÚ þ™yØþy“þÄ„þîû’ ²Ì!e«ëûy ¦þyîû“þ#ëû ¢›y‹ îÄîßþiyëû !„þ þ™!îûî“Åþ˜ ¢‚†!àþ“þ
„þöìîûöìŠéÚ 4+12
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2Ð ¦þyîûöì“þ !˜Á¬!œ!…“þ ”%!Ýþ •öì›Åîû ÷î!ŸÜTÄ ç •îû̃  !îöìÙÕ¡ì’ „þîû ­ öîïkþ•›Å ~î‚ ÷‹˜ •›ÅÐ
4+12

3Ð þ™!îûîyöìîûîû ¢‚Kþy öœ…Ð ¦þyîû“þ#ëû þ™!îûîyöìîûîû „þyëÅyîœ#îû þ™!îûî“Åþ˜=!œ !˜îû*þ™’ „þîûÐ
4+12

x‚Ÿ éôé 2

4Ð ¢yÁ±”y!ëû„þ“þy îœöì“þ !„þ öîyGþÚ ¦þyîûöì“þ ¢yÁ±”y!ëû„þ“þyîû „þyîû’ ç ²Ì„,þ!“þ ¢Áºöìõþ xyöìœy‰þ˜y
„þîûÐ 4+12

5Ð •›Å!˜îûöìþ™Çþ“þy îœöì“þ !„þ öîyGþÚ ¦þyîûöì“þ •›Å!˜îûöìþ™Çþ“þyîû ²Ì„,þ!“þ !˜îû*þ™’ „þîûÐ 4+12

6Ð ë%î x¢öìhsþy¡ì îœöì“þ !„þ öîyGþÚ ¦þyîûöì“þ ë%î x¢öìhsþyöì¡ìîû ›)œ „þyîû’=!œ þ™ëÅyöìœy‰þ˜y „þîûÐ
4+12

x‚Ÿ éôé 3

7Ð ¢y›y!‹„þ †öìî¡ì’y „þyöì„þ îöìœÚ ¢y›y!‹„þ †öìî¡ì’yîû !î!¦þ§¬ •îû̃ =!œ xyöìœy‰þ˜y „þîûÐ
4+12

8Ð ¢yÇþyê„þyîû îœöì“þ !„þ öîyGþÚ ¢yÇþyê„þyîû þ™kþ!“þîû ¢%!îöì• ç x¢%!îöì•=!œ xyöìœy‰þ˜y „þîûÐ
4+12

9Ð ²ÌÙÀ›yœy !„þÚ ²ÌÙÀ›yœy ç ²ÌÙÀ“þy!œ„þyîû þ™yíÅ„þÄ !˜îû*þ™’ „þîûÐ 4+12

!î¦þy† éôé …

10Ð  öë ö„þyöì̃ y ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 5×4=20

S„þV ”!œ“þ „þyîûyÚ

S…V ¦þyîûöì“þ vþzþ™‹y!“þ ¢›yöì‹îû ²Ì•y˜ ÷î!ŸÜTÄ=!œ !„þ !„þÚ

S†V ¢y›y!‹„þ ¢›¢Äy îœöì“þ !„þ öîyGþÚ
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S‡V ¦þyîûöì“þ ”y!îûo“þyîû ›)œ „þyîû’=!œ !„þÚ

SˆV ‹˜ !îöìßþ³þyîû’ îœöì“þ !„þ öîyGþÚ

S‰þV x‚Ÿ@ùÌ£’›)œ„þ þ™ëÅöìîÇþ’ „þyöì„þ îöìœÚ

SŠéV ²Ì!“þöìî”˜ öœ…öì̃ îû ²Ì•y˜ þ™¤y‰þ!Ýþ þ™ëÅyëûöì„þ !‰þ!£«“þ „þîûÐ

S‹V î,_!‰þe „þyöì„þ îöìœÚ ¢!‰þe î’Å̃ y ”yçÐ


